Exam II; F4360; 2:00 Class; Fall, 1999


Name ______________________________

Short answer questions/problems

For questions 1 through 5, assume that on Monday, October 11th, you bought 4 puts on Amazon with an exercise price of $85 per share and which expire in January.  For each, use a “+” for inflows and a “-“ for outflows.

1.  What is the initial cash flow when you bought the puts?

2.  Was this put in-the-money or out-of-the money on October 11th?

3.  Assume that when the puts expire in January, Amazon stock has decreased by $7 per share from its closing price on Monday, October 11th.  What net cash flow will you realize at the expiration of these puts (assuming everyone is rational).

4.  What is your overall profit or loss from buying the puts?

5.  Ignoring transaction costs, at what stock price would you have broken even?

6.  What characteristic defines an American option?

7.  Suppose you own stock in Dell Computer. If we view this stock as a call on Dell’s assets, what will happen to the value of your stock if the cash flows that Dell is expected to generate falls (and nothing else changes about Dell)?

8.   Assume you own stock in Ford Motor Company.  If nothing changes except the passing of time, what will happen to the value of Ford stock over the next month?  Note:  Ford does have debt.

9.  Briefly explain why an increase in the variance of returns on a firm’s stock make a call on the stock more valuable.

10.  Suppose you buy a put on Dell with a $50 strike price that expires in November and you also buy a call on Dell with a $50 strike price that expires in November.  Sketch a graph of the payoff at expiration from these two transactions (on a single graph) as a function of stock price.

Problems

1.  Suppose you are thinking about buying a put on Xerox Corp with a strike price of $35 which expires 38 days from today.  Given the following information, what is most you would be willing to pay for this put?

Per share information:  current stock price = $
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; expected stock price when option expires $38; current book value per share = $6.91; expected book value per share when option expires $7.52.

Standard deviation of returns on:  Xerox’s assets:  23%, Xerox’s stock:  41%, call on Xerox:  152%

Return on Treasury-Bills:  2-days = 4.42, 9 days = 4.52, 16-days = 4.39, 23-days = 4.43, 31-days = 4.54, 

37-days = 4.47, 45-days = 4.53

2.  Blast Corps Inc. (and industrial demolition firm) is expected to pay a dividend of $0.35 per quarter per share forever beginning six months from today.  What is the most you would be willing to pay for Blast Corps stock given the following information?

Market Risk Premium = 8.3%

Return on T-bills = 4.42%


Return on:

Year
Blast Corps
S&P500

1996
33%
35%


1997
27%
24%

1998
89%
31%
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